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����. �+������ ��2+&���� 2������ ��?������ ��&.$������ �&����8
��6�$�� 
6�/�H��. �������/����� �������� �0�2� ��&.$�����0 �&�8
������0 +��$����# �?��������H-�� 2����� �?�?-���. M��� �0�2� �
+��������. ����0 �����������0 +��$���� �&������6�$�� 
����. �+�8
����� ������/����0 �&�����2�� ���08 � ���02����� ��6��&�6�$�� ��8
6�&(����� ��&.$������ �&������6�$�� ����&������. 2���� ��?������
�&������6�$�� � ����2����� ��6��&�6�$��� �����0 ����2���������.
+��2������ ��?������ �&������6�$�� � ���&�6� ��������/����0 ���8
2����0 �.��� �6 �?&���� M����2��� 
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�&�������� +��$����� ��0��.� 9������ +��&�1���. � ���&�6� �����0 � ��68
&�/��0 �?&���.0 /�&���/����� ��.��&(����� m< 8 @n �&������6�$�. �?l����� +�68
��&.�� ��6?��( 2��1����� ���&����2�0 �?l����� �� �&���� �0����0 �?l����� �
+������ �� �+�����. �?l����� � �+�����H �&����� �?l�����# /�� .�&.���. ��8
��2 �6 ��1��0 M��+�� 7��2�������. 6����. �? ���&����2�� �?&����# �� ���&�6�
� 2���&�������. ��M��2� �&�������� ���&�6 /���� ��+�&(6����. �� ��/�&(��2
M��+� ���&�������. �����0# ����� +�������&���. � ��������� �����0 �-� �� �7��8
2�������# � �&����# ��.�&.�2�� �&�������2 ���&�6�2# 2���� �&�1��( �������
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�&. ��&(���9��� ?�&�� ����&(���� ���&�6� �����0 �&�������� ���&�6 �������
��6�������. +��&����� ���.��&���.# /�� �?��&��&��� �&���H-�2� +��/���2�A <"
+�.�&����2 ����0 �?&����� ��� +��&�1���. �� �+�$�7�/����2� �?l����2� ���&�8
������. ����2�# ��� 
������� � ?����7��2����� mB 8 Fnr D" ��6��?����� ����0
2���&�� ���&�6�# �?��?���� � +�������&���. �����0 ����0# ��� ��/����. &�����#
��������� ���� � ������/����� �&�����2� m=# Cnr @" ��6��?����� 2������ ��?���8
��� �&������6�$��# ��/���H-�0 ��6�&(���� ��6��0 �&�������0 +��$����# �&�
��/���H-�� �&�������� ���&�6 � �����2� 2�����2� ���&�6� �����0 mJ 8<Dn 

� ��?��� m<@n +���&�1��� �?-�. �0�2� ��?�����0 ��&.$�����0 �&�������0
+��$���� �� ������ 2������ ������������ ��&.$������ �&������6�$�� � ������/�8
���� ��6��&�6�$�� �����0# ��6��?������0 ������2� � ������ ��?��� �6�/�H��.
�������/����� �������� �0�2� �����������0 ��&.$�����0 �&�������0 +��$����#
�?��������H-�� 2����� �?�?-���. M��� �0�2� � +��������. ����0 ���������8
��0 +��$���� �&������6�$�� 
����. �+������ ������/����0 �&�����2�� ���08 �
���02����� ��6��&�6�$�� ��6�&(����� ��&.$������ �&������6�$�� ����&������.
2���� ��?������ �&������6�$�� �����0 � ����2����� ��6��&�6�$��� +� �?�?-��8
��2� +��6���� ���� �6 +���&�1����0 2������ �&&H���������. �� +��2��� ���8
&�6� ?�6� �����0 ��������/����0 ���2����0 �.��� �6 �?&���� M����2��� ����(.
������6����� �&���H-�2 �?��6�2 � ��6��&� < ��H��. �������� �+����&���. �&.
�6��9����0 !��/����0" ����9���� �0������ � M�����&�������� � �����. �?-�.
�0�2� ��?������ ��&.$������ �&������6�$�� � ��6��&�6�$�� �����0 � ��6��&�
D �����. �+������ �0�2� �����������0 ��&.$�����0 �&�������0 �&�����2�� �
��6��&� @ ���&���H��. �������/����� �������� M��� �0�2� � ��6��&� B �+���8
��H��. M��&H$������ +��$����� ���08 � ���02����� ��6��&�6�$�� ��6�&(�����
��&.$������ �&������6�$�� � ��6��&� E �?��1��H��. 2����� ��?������ �&����8
��6�$�� � ���08 � ���02����� ��6��&�6�$��� �&������� � ��6��&� F ������ �+���8
�����. 2���� ��?������ ����2����� �&������6�$�� ���2����0 �.��� � ��6��&�
= �+��������. 2���� ��?������ �&������6�$�� � ��6��&�6�$��� ��&(��0 ��.6�� 
)���� �&&H���������. �� +��2��� �&������6�$�� ���2����0 �.��� �6 �?&����
M����2��� � K��&H/���� ��2�/�H��. �������� ��6�&(���� ����(� 

1� �%�&#�$� 4&�=6�=

����( M = {x, y, . . .} 8 2��1�����# �����1�-�� n �?l�����# I 8 +�&�1���&(���
/��&� � L = [0, I] :���$�. S : M ×M → L# ����&�����.H-�. �� M ��&���.2
��22����/����� S(y, x) = S(x, y) � ��7&���������� S(y, y) = I# ��6������. �6��8
9����2 !��/����2" ����9����2 �0������ m<Bn ,�6 ������/���. �?-����� ?���2
+�&����( I = 1 q�� ����9���� ?���� ����2�������(�. ��� ��0����. ��7��2�$�. �
�0������ 2�1�� �?l����2� �6 M # �� ������ ������� �&�������. +��$����� ������
��6?����� 2��1����� �?l����� �� �&���� �0����0 �?l����� �� +������� ����9�8
��� �0������ 2�1�� ?��( 6����� ��+������������# ��+��2��# M��+����2# +�&�/���
� +�2�-(H +��0��.-�� 2��� �0������# �&� �� ������ ������.��.# ��&� �?l����
6����� �������2� � ��������2 +����������� +��6����� � +��&����2 �&�/�� 2���
������.��. ?���� ����2�������(�. ��� ����9���� ��6&�/�. D : M ×M → L# ���8
�&�����.H-�� �� ~ ��&���.2 ��22����/����� D(y, x) = D(x, y) � ������7&�����8
�����A D(y, y) = 0 :���$�� S � D 2���� ?��( +�&�/��� ���� �6 �����# ��+��2��#
����2 �?��6�2A D(x, y) = I − S(x, y)r S(x, y) = I −D(x, y) 



���
����� 
�����
���	�� �� ������ 
���	������ �������� DJ

�6��9����2 !��/����2" ����9����2 M�����&�������� ��6������. ����9����
�0������# ����&�����.H-�� �� M ��&���H (∨,∧)8����6���������A

S(x, z) ≥ min{(S(x, y), S(y, z)}. !<"

(∨,∧)8����6��������( ����9���. �0������ ����������� �&(���2����/����2� ����8
������� ����9���. ��6&�/�.A

D(x, z) ≤ max{(D(x, y), D(y, z)}.

��/����� ����9���. M�����&�������� � �&(���2������ �+����&.H� �����0�H ��68
?����� 2��1����� M �� �&���� ��� �6�/�&��( � ��?���0 m<B8<Cn ���$����� �&�8
�����6�$�� ����2���������. 6���( ��� +���?��6������ ����9���� �0������ � ��8
��9���� M�����&�������� �&�# �����������# ��� +���?��6������ ����9���. ��68
&�/�. � �&(���2������ ��?������ ��&.$������ �&������6�$��� 2��1����� �?l8
����� M ��6������. +���?��6������ m<@n

HC(S) =< RC;PC >, !D"

��� S 8 �6��9����� ����9���� �0������ �� M # RC 8 2��1����� /����0 �&� ��/��8
��0 ����9���� �� ���&����2�2 2��1����� �?l����� M # �����1�-�� �6��9�����
����9���� M�����&�������� E# � PC 8 2��1����� �+������ M&�2����� �6 M �
+����������� ��62������� m � �?-�2 �&�/�� +���?��6������HC ��&1�� ����&�8
����.�( ��������2 ��&���.2 ��$����&(����� ��+��2��# ����9���. �6 RC �&�
������.��. 2�1�� M&�2����2� 2��1����� M # �+����&.�2�� +�������&����2 PC#
��&1�� ?��( ���&������� � 6������2 ����9����2 �0������ S �&������6�$�. �
��6��&�6�$�. .�&.H��. /�����2� �&�/�.2� �0�2� !D" ��&� PC = � � RC = {E}#
��� E 8 /����� �&� �6��9����� ����9���� M�����&�������� �� M # �� !D" �+����8
&.��# ��������������# �?�/��H �&� �����0�/����H �&������6�$�H 2��1����� M  

����0�/����. �&������6�$�. 2�1�� ?��( 6����� ���1� 2��1�����2 /����0 ����8
9���� M�����&�������� RC = {E1, E2, . . . , Em} ����0# /�� E1 ⊂ E2 ⊂, . . . ,⊂ Em 
��&� RC = � # � PC 6����� �+������ M&�2����� �6 M � +����������� ��62��8
����� m ∈ {1, 2, 3}# �� HC 6����� ��6��&�6�$�H �����0 � +����������� 2�&��
��62������� 

3� ��#'8�'�6�'= ��8'8D�"�%<'= 8� =>�&��'= < '%6�8�9'>�=

�?-�. �0�2� �����0�/����0 �&�������0 +��$����# ����&�����.H-�0 ��&���8
.2 �������������� ��������&(�� ��0����� ��2���$�� �?l����� � ��������������
��������&(�� 2��������0 +���?��6������ 6��/���� �0������ ���&�����&��( � ��8
?���0 m<J8D<n �0�2� !D" �2��� ���A

HC(S) =< E;� > .

��� E 8 �6��9����� ����9���� M�����&�������� ����?��6������ HC(S) 6������.
+��$������ �&������6�$�� Q(S) = E# ������. �+����&.���. ���A

Q(S) = TC(F (S)) = E, !@"
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��� wp 8 +��$����� ����6�������� 6�2�����. �6��9����0 ����9���� m<B8 <Fn# �
F 8 +��$����� �������$��� 6�������� ����9���. �0������ S# ����. /�� F (S) ⊆ S 

���$����� ����6�������� 6�2�����. ����&�����.�� �?��2 ��&���.2 ������8
�������� �&�������. +��$����� Q ���1� ����&�����.�� M��2 ��&���.2# ��&�
+��$����� ������$�� � ����&�����.�� �2 ����&�1��� ��6&�/��� �������� ��8
��0 +��$���� ������$�� m<J8D<n 
6&�1�2 �0 � �?�?-����� 7��2� mD>8D<n ����(
f1, f2, f3 : [0, I] → [0, I] 8 2���������# ���?���H-��# +�&�1���&(��� 7���$�� 
���$����� ������$�� 6����.� �� �&���H-�0 2��1���� � +���2�����A

Vy(x) = {z ∈M {x, y}|S(x, z) ≥ f1(S(x, y))},

Vx(y) = {z ∈M {x, y}|S(y, z) ≥ f1(S(x, y))},
)��1����� Vy(x) � Vx(y) �?�6��/�H� 2��1����� �?l����� �+�0�1�0� �� ] � �� b
��������������# ��� 6��/���� f1(S(x, y)) �&�1�� ��������2 M���� �0������ )��8
1�����

V (x, y) = {z ∈ X {x, y}|max{S(x, z), S(y, z)} ≥ f2(S(x, y))},
�����1�� �?l���� �6 M # ������� �+�0�1�� +� ������� 2��� �� ���� �6 �?l�����
x � y ����� f1 ≡ f2# �2��2 V (x, y) = Vy(x) ∪ Vx(y) q�� 2��1����� +�������8
&.�� 2��1����� ��������� ] � b ���&���� �?l����� �6 V (x, y) �/�����H��. +��
+���.��� ��9���. � ������$�� 6��/���. S(x, y) )��1�����

W (x, y) = {z ∈ X {x, y}|min{S(x, z), S(y, z)} ≥ f3(S(x, y))},

�?�6��/��� 2��1����� ���&(��0� �&� ��?-�0� �������# � � �?l�����# �������
�+�0�1�� �� �?� �?l���� x � y �?l���� �6 W (x, y) �+�����1���H�� 6��/����
S(x, y) ����� f1 ≡ f3# �2��2 W (x, y) = Vy(x) ∩ Vx(y) ��9���� � ������$�� 6��8
/���. S(x, y) 6������ �� ��&� �?l�����# �+�����1���H-�0� 6��/���� �0������

S(x, y) q�� ��&�/��� 2�1�� ?��( ��/��&��� �&���H-�2 �?��6�2A h = |W (x,y)|
|V (x,y)| #

��� h = 1# ��&� 6��2�����&( ����� > 
����( LV (x, y) �?�6��/��� �+��.��/����� � �?���H-�2 +��.��� �+���� ���0

6��/���� S(x, z)# S(y, z)# (z ∈ V )# ������� �2�H� 6��/���� 2��(9�# /�2 S(x, y) 
�?�6��/�2 m = |LV (x, y)| ��&�/����� M&�2����� � LV (x, y)# � lk(k = 1, . . . ,m)
M&�2���� LV (x, y) � / +�� m > 1# lk ≥ lk+1 �&. ���0 k = 1, . . . ,m− 1 

��62�1��� ������$�� +�� _k< ?���� �+����&.�(�. +���2����2 �A
j = 1 : Fj(x, y) = lm# � � Fj(x, y) 2���2�&(��� 6��/���� � LV (x, y)r
j = 2 : Fj(x, y) = l1# � � Fj(x, y) 2����2�&(��� 6��/���� � LV (x, y);
j = 3 : Fj(x, y) = (

∑
lk)/m, � � Fj(x, y) ���( ������� ���0 6��/���� �6 LV (x, y);

j = 4 : Fj(x, y) = lk# ��� k ∈ 1, . . . ,m 8 +���2���# F1 � F2 M�� /������ �&�/�� F4r
j = 5 : Fj(x, y) = median(LV (x, y)).

���$����� ������$�� F (S) = Sc �&�������� +��$����� Q �+����&.���. �&�8
��H-�2 �?��6�2A

Sc(x, y) =
{
S(x, y), ��&� h ≥ pr
Fj(x, y), � +�������2 �&�/�� 

��� p ∈ [0, 1] M�� +���2���# � Fj(x, y) M�� ����������������� 6��/����# ����� /��
Fj(x, y) ⊆ S(x, y) )� ?���2 +���+�&����(# /�� Fj(x, y) 6������ �� 6��/���� S(x, z)#
S(y, z) �&. �?l���� z# +�����&�1�-��� 2��1�����2 ������� x � yA Vy(x)# Vx(y) �
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V (x, y) ��� +��$����� ������$�� ����������� ��������&(�� ��2���$�� �?l�����
� ��� Fj(x, y) �&. j = 1, 2, 4, 5 ����������� ��������&(�� 2���������� +���?��8
6�����. 6��/���� �0������ 
������������( +��$����� ������$�� ��������&(��
��2���$�� �?l����� �?��+�/������. ��2# /�� +��$����� ������$�� +��2��.���.
�� ���2 +���2 �?l����� (x, y) ��6�����2� �� �0 ��2���$�� �&� +��.��� ����2��8
����.# � +���2����# ��+�&(6������� � +��$����� ������$��# �� 6����.� �� ��8
2���$�� �?l����� �������� �������������� ��������&(�� 2��������0 +���?��8
6������ 6��/���� �0������ .�&.���. ��+�&����&(��2 � �������� ��������������
��������&(�� ��2���$�� �?l����� 

;� �#&@%6#' %D�5$ ��8'8D�"�%<&@ 8� =>�&��&@ < '%6�8�9'>��

����2����2 ��������� �������� �0�2� �����0�/����0 ��&.$�����0 �&�����8
��0 +��$���� 
�&�� +�&����2# /�� �� M 6����� �6��9����� ����9���� �0������
S ����9���� &�������� +��.��� ≤ �� L �+����&.�� �+���$�� min � max �?�6��8
/�����# ��� ∧ � ∨ ��������������A a ∧ b = a# ��&� a ≤ b � a ∧ b = b# ��&� b ≤ ar
a ∨ b = b# ��&� a ≤ b � a ∨ b = a# ��&� b ≤ a 
&. &H?��� 6��/���. !�����." a �6 L
�6��9����� ����9���� S �+����&.�� ����9���� �����. a !a8���6" 8 ����9���� S[a]

� �6��9����� ����9���� Sa �&���H-�2 �?��6�2A S[a] = {(x, y) ∈ X |S(x, y) ≥ a}r
Sa(x, y) = 1# ��&� S(x, y) ≥ ar � Sa(x, y) = 0# ��&� S(x, y) < a 

���2��1����� A ⊆M ?���� ��6����(�. �&����2 �0������ ����9���. �0������
S �� M # ��&� S(x, y) > S(u, z) �&. ���0 x, y, u ∈ A � z /∈ A �&��� �0������
2�1�� ����2�������(�. ��� ������������ �&����� � 2��1����� M  K��/���� s =
min
x,y∈A

S(x, y) ?���� ��6����(�. ��&�� �&���� �0������ A 

H6#�8K2���� 1� *��A����� ������� �&������ �
��������� ��������
 G�@
������������� S ��������� � ���A������ ������� G�������������� ������@
��1  ����
 S[a]� a ∈ L�

�&<'9'6� 7%6#&� ����( S �6��9����� ����9���� M�����&��������# a 8 ����8
����� M&�2��� �6 L# � A �&��� M�����&�������� ����9���. S[a] ����� �&. ���0
x, y, u ∈ A � ���0 z /∈ A 2� �2��2 (x, y) ∈ S[a]# S(x, y) ≥ a# (u, z) /∈ S[a]# S(u, z) < a
�# �&�������&(��# S(x, y) > S(u, z) �&�������&(��# ��1��� �&��� M�����&�����8
��� S[a] ?���� �&����2 �0������ S# � ��6?����� M �� �&���� M�����&��������#
�+����&����� ����9����2 �����. S[a]# ?���� �+����&.�( ��6?����� M �� �&����
�0������ ����+�&�1�2 A 8 �&��� �0������ �6��9������ ����9���. M�����&���8
����� S# s 8 ��&� A# � x∗# y∗ ��������� M&�2���� �6 A# �&. ������0 ��+�&����
S(x∗, y∗) = s ����� �&. ���0 x, y ∈ A 2� �2��2 S(x, y) ≥ s# � (x, y) ∈ S[s] � �&.
���0 z /∈ A 2� �2��2 S(x, z) < S(x∗, y∗) = s � (x, z) /∈ S[s] �&�������&(��# �&���
�0������ A ���+����� � ��������2 �&����2 M�����&�������� S 


�� �?l���� ��6���H��. ������/��2� � S# ��&� S(x, y) = I � S(x, z) = S(y, z)
�&. ���0 z �6 M\{x, y} 
�� �?l���� x � y ��6���H��. ����6&�/�2�2� �� ������
a ∈ L ��&� S(x, y) ≥ a � �&. ���0 z ∈ M ��+�&�.���. S(x, z) ≥ a ����� � ��&(��#
����� S(y, z) ≥ a 5���# /�� ��� �?l���� ����6&�/�2�� �� ��������2 ������ a
?���� ������/��2� � ����9���� �0������ Sa 5��� ���1�# /�� ��� �?l���� ����68
&�/�2� �� 2���2�&(�� ��62�1��2 ������ ># � 2����2�&(�� ��62�1��� ������(
����6&�/�2���� ���0 �?l����� x � y � ����9���� S ����� a = S(x, y) 
�� �?l����
x � y ����6&�/�2�� �� ������ a = S(x, y) ?���� ��6����(�. ����6&�/�2�2� � S 
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H6#�8K2���� 3�$�������� �&������ S� ������������ ��M � ) ��� �
�����@
��� ���������� G�������������� ����� � ���	�� ������ ����� ��� �)Q���� �

M ����
��0��� � S�

�&<'9'6� 7%6#&� ����( x#y#z 8 +���6��&(��� �?l���� �6 M  ����1�2# /��
��&� ��� �?l���� ����6&�/�2� � S# �� ��+�&�.���. !<" ��&� S(x, z) ≥ S(x, y)# ��
�/������ !<" ��+�&�.���. ����( S(x, z) < S(x, y)# ����� �6 ��&���. ����6&�/�2�8
��� �?l����� � M �&����� S(y, z) < S(x, y) 
6 M��0 ����������# ����6&�/�2����
�?l����� � M � ��22����/����� S �&�����# ��������������# S(x, z) ≤ S(z, y)# �
S(y, z) ≤ S(y, x)# S(y, z) ≤ S(z, x)# ������ �&����� S(x, z) = S(y, z) � ��+�&�����
!<" ����( S 8 (∨,∧)8����6������ ����1�2# /�� ��� �?l���� ����6&�/�2� � S 
)�1�� +���6��( mDDn# /�� ����9���� �0������ S ?���� �6��9����2 ����9����2
M�����&�������� ����� � ��&(�� �����# ����� �&. ���0 x, y, z ∈M ��� ���2��(9�0
�6 ���0 6��/���� S(x, y)# S(y, z)# S(z, x) ����� ������ �&�����# /�� ��+�&����
���� �6 ���0A S(x, y) > S(y, z) = S(x, z) �&� S(y, z) ≥ S(x, y) � S(x, z) ≥ S(x, y)#
� � ��1��. +��� �?l����� x, y ����6&�/�2� � S 

��� ��6��?���� +��$���� ��&.$������ �&������6�$�� E = TC(F (S)) �6 �0�8
2� !@" �����������2 +�1�&����2 .�&.���. �������� 2���2�&(��0 �62������ �
��0����� ����9���� �0������ S +�� ��� +���?��6������ � ��6�&(����H-�� ����8
9���� M�����&�������� E 
6 ������� +��$����� ����6�������� 6�2�����. TC
m<Bn �&�����# /�� TC(F (S)) +���?��6��� ����9���� �0������ F (S) �� �6��9�����
����9���� M�����&�������� E �����# /�� F (S) ⊆ E � 2���2�&(��� �6��9�����
����9���� M�����&��������# �����1�-�� F (S) �&�������&(��# +��$����� ����8
6�������� 6�2�����. ���� 2���2�&(��� ���&�/���� 6��/���� F (S)(x, y) �&. +��8
�?��6�����. F (S) �� �6��9����� ����9���� M�����&�������� E 
6 �����1����.
D 2� 2�1�2 6��&H/��(# /�� M�� +��$����� +���?��6��� ��� +��� �?l����� �6 M
� ����6&�/�2�� �&�������&(��# 2� 2�1�2 +���+�&�1��(# /�� ��22����� �62�8
����� 6��/���� �0������ F (S)(x, y) +�� +���?��6������ TC(F (S)) = 6������ ��
/��&� +�� M&�2����� x#y# ������� �� .�&.H��. ����6&�/�2�2� � F (S) � +���?��8
6�H��. � ����6&�/�2�� +��� E(x, y)# � �� ����+��� ����6&�/�2����� M��0 M&�2��8
���# ��&� 2� 2�1�2 �62����( M�� ���+��( �&�������&(��# +��$����� ������$�� F
� +��$����� �&������6�$�� !@"# �2��(9�H-�. 6��/���. �0������ S(x, y)# ��&1��
�����( ����� 2���2�&(��� �62�����. M��0 6��/����# ������� ?���� ���&�/����(
/��&� ����6&�/�2�0 +�� �?l����� �&� ���&�/����( ����+��( ����6&�/�2�����
+�� �?l����� � M��2 �&�/�� �62�����.# +���6����2�� +��$������ ����6������8
�� 6�2�����. TC � ����9���� F (S)# ?���� ��?�&(9�2�# � �������� �62�����.#
+���6����2�� +��$������ �&������6�$�� !@"# ���1� ?���� ��?�&(9�2� q�� ��8
�?��1���. &�1�&� � ������ +��$���� ������$��# ����2�������0 ��9� 

H6#�8K2���� ;� F�
 ���������& ���!�� � Q � ��A����������� . ��!�@

�� f1 @ f3 ��������� Q(S) = S ����� � ���	�� ������ ����� S @�
��������
��������� G���������������

�&<'9'6� 7%6#&� 
6 ��������$�� �&�������� +��$����� Q �����# /�� ��&�
Q(S) = S �&. ���������� ����9���. �0������ S# �� S ?���� ����9����2 M���8
��&�������� ����+�&�1�2# /�� S 8 �6��9����� ����9���� M�����&�������� ��8
��1�2# /�� Q(S) = S 
6 	����1����. D �&�����# /�� ��� +��� �?l����� � S
.�&.H��. ����6&�/�2�2� 
6 �+����&���. +��$����� ������$�� �&�����# /�� ��8
&� ��� 7���$�� f1 8 f3 ���( ��1���������� 7���$��# �� 6��/���. �0������ S(x, y)
2�1�� �?l����2� �� ?���� �62��.�(�. +��$������ ������$�� F # +���2� /�� �&.
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����6&�/�2�0 �?l����� ��� 2��1����� V (x, y)# Vy(x)# Vx(y) � W (x, y) ?���� ���8
+����(# h = 1# �# �&�������&(��# Sc(x, y) = S(x, y) �&. ���0 p ∈ [0, 1] �����# �6
�����1����. D +�&�/��2# /�� Sc(x, y) = S(x, y) �&. ���0 +�� �?l�����# �&�����8
��&(��# F (S) = S � �6 �������� �+���$�� ����6�������� 6�2�����. 2� +�&�/�2
TC(F (S)) = S 

H6#�8K2���� ?� ���������� ���!�� �� �
 ��������������1 �&��� ��&��@
�
?� ������ �&������� ���� . ��!�� f1 � f2 @ ��A�����������

�&<'9'6� 7%6#&� ����+�&�1�2 A 8 �&��� �0������ ����9���. �0������ S# s
8 ��&� M���� �&����# � x, y ∈ A# ����� S(x, y) ≥ s# � �&. &H?��� z �6 ����9����
max(S(x, z), S(y, z)) ≥ s ��+�&���� ����� � ��&(�� �����# ����� z ∈ A �&�����8
��&(��# 2��1����� V (x, y)# Vy(x) � Vx(y) ?���� �����1��( ��&(�� M&�2���� �6  �
��6�&(����# Fj(x, y) ≥ min

z∈V
{S(x, z), S(y, z)} < s# ��� V = V (x, y)∪Vy(x)∪Vx(y) �&�8

������&(��# �&. ���0 x, y ∈ A ����������������� 6��/���� F (S)(x, y) ?���� ?�&(8
9� �&� �����# /�2 s �# ?�&�� ����# 2� ?���2 �2��( E(x, y) = TC(F (S))(x, y) ≥ s 
����1�2# /�� E(x, z) = TC(F (S))(x, z) < s �&. ���0 x ∈ A � z /∈ A �# �&�������&(8
��# ?���� �&����2 �0������ �6��9������ ����9���. M�����&��������  
6 �������
����6�������� 6�2�����. m<Bn �2��2

E(x, z) = maxq{min{F (S)(y0, y1), F (S)(y1, y2), . . . , F (S)(yn−2, yn−1), }},

��� q = (y0, y1, y2, . . . , yn−2, yn−1) M�� +��( �&���� n − 1 �6 y0 = x � yn−1 = z �
2��1����� M # � max ?�����. �� ���0 ����0 +���� � m<Bn 
&. ��1���� ������ +���
��-������� ������ k �����# /�� yk ∈ A � yk+1 /∈ A 
&. M��0 ���0 �?l����� 2�
�2��2 F (S)(yk, yk+1) ≤ S(yk, yk+1) < s �# � ��6�&(����# 2� �2��2 E(x, z) < s 


���6����� �����1����.# ��8+����0# �?��������H� �&�������� +��$����� �
��1���������2� 7���$�.2� f1 � f2 ��� +��$�����# ��0���.H-�� �&���� �0��8
����# ��8�����0# M�� �����1����. &��&� � ������ ��6��?���� �&�������0 +��$�8
���# ���������0 �� ���� ���6���� 2������� 2�1�� �&������2�� mD<#DDn I���� ��8
��� 2������ �����1�� �&���� �0������# ������.H-�� ?�&�� ���+��� �&������ 
6
	����1����. B �&�����# /�� �&. +��������. ��&.$������ �&�������� +��$�����
�� ������ ����2�������2�� ��9� �0�2� ��6����H-�� ����� 2������# ���?0���2�
/��?� 7���$�� f1 � f2 ��&�/�&��( �� ��1���������0 � mD@n ?�&� +���&�1���
����� +��$����� 

?� L#& !>�&��$� 48&>�2:8$ 2#:D	 � 68�D5�8�&@ #�9:' �9'>��

K���/� ��6��&�6�$�� 2�1�� ����2�������(�. ��� 6���/� 2���2�6�$�� ����8
1���� ��0����0 ������.��� 2�1�� �?l����2� +�� �0 +�������&���� � ���08 �&�
���02����2 +����������� �0�2� !D" �2��� ���A

HC(S) =< �;P >,

��� P 6����� ���������� �?l����� � ���08 �&� ���02����2 +����������� 
����2����2 +��$����� ���02����� ��6��&�6�$�� �����0 ����+�&�1�2# /��

D 8 ��0����� ����9���� ��6&�/�. !2����$� ������.���" 2�1�� �?l����2� �6 M  
���������2 ��/�&(��H 2����$� P ��������� �?l����� � ���02����2 +�����������
� ��.2� X � Y  
�+�&(6�. �� ��� ��/�&(��� +��?&�1����# � +�2�-(H ��������8
��� +��$����� �+��2�6�$�� �+����&.�2 ����H 2����$� ��������� �?l����� P ∗#
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������� ������������� 2����$� ������.��� 2�1�� �?l����2� R � 2���2�&(���
�9�?��� �++�����2�$�� ��/�&(��� 2����$� D �?�/�� +�&�/����� +�������&�8
��� P ∗ ���� &���&(��� �+��2�2 K���2 �+����&.�2 ��� �?l���� a � b �6 2��1�����
M # � 2����2�&(��2 6��/����2 R(a, b) �����2� ��������� < X,Y > +���2�-��2
� +�����/����2 ���# /��?� $���� ������� �����2� ��������� ��0���&�. � ��/��
a# � ��/�� b ���+�&���&��( �� ��� X  ����( a � b �2�H� ���������� (ax, ay) �
(bx, by) �������������� ����2�-���� �?l����� ���-����&.���. +���&&�&(��2 +�8
������2 ���&( ��� X �� ��&�/��� −ax � ���&( ��� Y �� ��&�/��� −ay K���2
���-����&.���. +������ �����2� ��������� �� ���& 2�1�� �������2 (a, b) � ��(H
X  

� ����� �����2� ��������� X ′ � Y ′��?����2 �?l��� c � 2����2�&(��2 �?8
��&H���2 6��/����2 ���������� +� ��� Y

′
 � 6�����2���� �� 6���� M��� ����8

������ ���-����&.���. 6����&(��� ���?��1���� ���0 �?l����� ��������&(�� ���
Y
′
 �?l���� a# b# c ?���� �+����2� M&�2����2� �&. ���0 +��&���H-�0 2����$

��������� �?l����� ��&�/����. 2����$� ��������� P ∗ �?l����� �6 ��6������.
��9����2 � �9�?�� �++�����2�$�� 2����$� D 2����$�� ������.��� R# ��/��8
&����� �� ������ 2����$� ��������� P ∗# ��6������. �9�?��� ��9���. 

�&�/����2 �?��6�2 �����������. 2��1����� m 2����$ ��/�&(��0 ���������
�?l����� � ���02����2 +����������� � �&. ��1��� �6 ��0 ��/��&.���. �9�?��
�++�����2�$�� ��&�/����� 2��1����� 2����$ ��6������. +�+�&.$��� ���&�/8
9�� q 2����$ � ���2��(9�� �9�?��� �++�����2�$��# ��?������ �6 +�+�&.$��#
��6���H��. M&���� 


&. ��1��� 2����$� �6 M&��� +��2��.���. +���2�-���� � +������ ������8
��&(�� �+����0 ��/�� a# b# c ���# /��?� �0 ���+�&�1���� ?�&� ����2 1�# ���
� � 2����$� P ∗ ��&�/����� ��9���. 6���2 ��+�&(6�H��. �&. ������$�� ����0
��9����# ��6����2�0 +���2��2� ����2�� +�&�/�H��. � ��6�&(���� +��2�����.
�&���H-�0 9���� 
6 M&��� �&�/����2 �?��6�2 ��?������. +��� ��9���� !���8
����&��"# ������� �+��&������� ��+�&(6�H��. �&. +��������. ����0 ��9����
!�+���2����" � +�2�-(H �+���$�� ����2?���$�� � 2���$��# ���-����&.�2�0 �&�8
��H-�2 �?��6�2 

�+���$�. ����2?���$��A �&�/����2 �?��6�2 ��?������. �?l��� x �6 2��1�8
����M # � ��� �?l���� ������ �6 ������&��# � ��2���2� 2��(9�# /�2 ��2�� �?l����
x +����2�H� ���������� ��0 1� �?l����� ������� ������&. �+���$�. 2���$��A
� 2����$� ��������� ��9���. ��?��&.���. 2����$�# ������&����. �6 ���2�&(��
���+����&����0 2�&�0 ��&�/�� 

����. +�+�&.$�. +�&�/����. � +�2�-(H ��?��&���. � ������ M&��� +���28
���# +�&�/����0 +��2������2 �+���$�� ����2?���$�� � ������ M&���# +���2���#
+�&�/����0 �6 M&��� +��2������2 �+���$�� 2���$�� � +���2���# +�&�/����0 �
+�2�-(H +��2�����. 2���$�� +��&� +��2�����. �+���$�� ����2?���$�� � ���8
��� M&��� 


&. ����0 M&�2����� M&���# �+����&.H-�0 2����$� ��������� �?l����� �
���02����2 +�����������# ��/��&.H��. 2����$� ������.��� � �9�?�� �++�����8
2�$�� ��0����� 2����$� ������.��� D 

����. M&��� ��?������. �6 +�&�/����� +�+�&.$�� �&���H-�2 �?��6�2A +�&�8
���� M&��� ������� �6 ���&�/9�0 ��9���� +�+�&.$��# � �����. +�&����� ��?���8
���. �6 +�+�&.$�� �&�/����2 �?��6�2 
&. ����� M&��� +�����.H��. ��� 9���#
�+������� ��9�A +���2�-���� � +������ ���0 ���������# ��?�� �������&��� �



���
����� 
�����
���	�� �� ������ 
���	������ �������� @E

������$�. �+���2���� 
������$�. +�+�&.$�� +�����.���. 6������� /��&� ��6 �&� �� ��0 +��# +���

�9�?�� �++�����2�$�� �� ������ 2��(9� 6�������� 6��/���. 
����� ���02������ +�������&���. �?l����� ���-����&.���. +� ���&���/���

�0�2�# � ��2 ��&�/��2# /�� �+����0 M&�2����� ��?������. /����� � 6����&(���
���?��1���� M&�2����� ��+�&�.���. ��������&(�� ���0 ���� mDB#DEn 

A� ��F8�2�'= < '%6�8�9'>�= % 2#:D	 � 68�D5�8�&@ #�9:' �9'>��@ 8�	
9: 76'6&# < '%6�8�9'>��

����2����2 ���2������ ��+�&(6������ 2������ �����0�/����� �&������6�$�� �
2�����2� ���08 � ���02����� ��6��&�6�$�� �����0 � ��6�&(���� �����0�/�����
��&�2��������� �&������6�$�� ��� �?l���� � �&������ +�M��+�� ?���� �?l���8
�.��. � ���� �&����� ���?0���2� ��2����(# /�� �?�/�� ����62�1�� +���������(
2����2����� ������ � ���02����2 �&� ���02����2 +����������� ?�6 �62������
6��/���� ������.��. �� M��� +��/��� ����2�������2�� +��0�� � ��?������ ��8
6��&�6�$�� �����0 +������. �2��(9��( �62�����. ������.��� 2�1�� �?l����2�
������ 2�&��(��0 �&����� 6� �/�� ���&�/���. �62������ ������.��� 2�1�� �?l8
����2� �6 ��6��0 �&����� �� ���9�0 �����.0 �����0�� 

�0�2� ��?������ �&������6�$�� !D" �2��� ���A

HC(S) =< E;P >,

��� E 8 �6��9����� ����9���� M�����&��������# +�&�/��2�� ��&.$������ +��$�8
����� �����0�/����� �&������6�$��# � P 8 �+������ �?l����� 2��1����� M �
���08 �&� ���02����2 +�����������# ���&��������� � �+����&����2 �2��&� � ��8
&.$������ +��$������ �����0�/����� �&������6�$�� P +��&�������&(�� ������8
�. ���# /��?� ������.��. 2�1�� �?l����2� �6 �&�������# �?l����.�2�0 � ����8
�������� � �����0�/����� +��$������ �&������6�$��# ���&��.&��( �� ��0����0
������.��� �� 2���2�&(��H ��&�/��� ��/��&���� ��������� P ���-����&.���.
������/����2 �&�����2�2 ����2����2 ��?��� M���� �&�����2� �&. ���02������
+�������&���. ��6�&(����� �&����7���$�� 

�� +����2 M��+� �&������6�$�� ��� �&������ �����0�/����� �&������6�$�� ��8
���1�� 2�&�� /��&� �?l����� � ���������/��� �� ��1��0 �����.0 7��2����2��
�����0�� ��&� �&����� ������� �6 ���0 �?l�����# �� M�� �?l���� +�&�/�H� ����8
������ !>#>" � !d#>"# ��������������# ��� d = D(x, y) ��&� �&����� ������� ?�&��#
/�2 �6 ���0 �?l�����# �� � 2��1����� M��0 �?l����� +��2��.���. ������/�����
�&�����2# �+������� � +������-�2 ��6��&� �&�����2 +������. ����� ��������8
�� �?l����� �6 ���������� �&���� ���# /��?� ������.��. 2�1�� ��2� ��&�/�&��(
�� �����������H-�0 ��0����0 ������.��� �6 D �� 2���2�&(��H ��&�/��� 

�� �����2 M��+� 2���2�6���H��. �62�����. ������.��� 2�1�� �&������2�#
�?l����.H-�2��. �2���� � ������������ � +��&�������&(����(H +��������. ����8
�0�� �&������� �&�������� +��$������ ���� �6 ���0 �?l����.�2�0 �&�������
�������. ��+����1��2# � ���������� �?l����� �6 M���� �&���� ����H��. ���62��8
��2� 
����� �&����� +���2�-����. ���# /��?� ������.��. 2�1�� �?l����2� �6
��+����1���� �&������ � �?l����2� �6 +���2�-��2��� �&������ ���&� ��� 2�1��
?�&�� +�0�1� �� ��0����� ������.��. 2�1�� M��2� �?l����2�# +��/�2 /��?� ���8
���.��. 2�1�� �?l����2� ������ +���2�-��2��� �&����# +�&�/����� �� +����2
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M��+�# �� �62��.&��( ���������� �?l����� �6 M���� �&���� �62��.H��. �&���H8
-�2 �?��6�2A

Xnew = X ∗ cos(a) + Y ∗ sin(a) + dX,

Ynew = −X ∗ sin(a) + Y ∗ cos(a) + dY,

��� X∗# Y ∗ 8 M�� ���������� �?l����� � ���02����2 +����������� �� +���2�-���.
�&����# Xnew# Ynew 8 ���������� �?l����� +��&� +���2�-���.# dX # dY 8 ��&�/�8
�� ������ �?l����� ���&( ���� X � Y # T 8 ���& +������� �&���� ������ ��/�&�
��������� ������ +���2����� (dX, dY, a) +�������&��� ��� M&�2��� +�+�&.$�� �
������/����2 �&�����2� 

,�&� ��+�&(6����� �&���H-�� 0������������� ������/������ �&�����2�A ��68
2�� ��/�&(��� +�+�&.$�� !��&�/����� �����" ����� E>># ��&�/����� �����# ��8
?����2�0 � M&���# ����� <E# ��&�/����� ������$�� ����0 +�+�&.$�� ����� @>> 
q&�2���� ����� ��/�&(��� +�+�&.$�� 8 �&�/����� ���2�&(�� ���+����&�����
/��&� �6 �������&� m8<>># <>>n �&. dX � dY # [−π, π] �&. ��&� a 
&. ��1��� �6
E>> ��������������0 ����� ?�&� ��/��&��� ������� �62������ ������.��� 2�1��
����2�������2�2� �&����2� �&���H-�2 �?��6�2A

E =
sumj(sumi(abs(Rij −Dij)))

(n ∗m)
,

��� Dij � Rij 8 ������.��. 2�1�� �?l����2� i �6 7������������� �&���� � �?l��8
��2� j �6 +���2�-��2��� �&����# ��0����� � ��/��&����� � ���02����2 +�������8
����# �������������� ���&�/9�� <E ����� +���2����� � 2���2�&(��2 6��/����2
?�&� ���?���� � M&��� ������$�. ����0 ����� �6 �����# ���?�����0 � M&���#
�������� �� �+���$�.0 2���$�� � ����2?���$�� 


�� ������8������&� �6 M&��� � ���� +���2��� �6 !dX # dY # a" ��?���H��. �&�8
/���� 
�� ����0 ������8+���2��# +�&�/����� �6 ���0 �����8������&�� ��� ��8
6�&(��� �?2��� 6��/���.2� ��?������� +���2���� 2�1�� ������2�8������&.2� 
q��� +��$��� +�����.���. <E ��6 �# � ��6�&(����# 2� �2��2 @> �����8+���2��� ��8
��. +�+�&.$�. +�&�/����. �?l��������2 M&���# +���2��� � 2����������� M&���#
��� /�� ��62�� +�+�&.$�� ���������. �����2 J> 

,�&� ��+�&(6����� �&���H-�. �+���$�. 2���$�� ��1��2� +���2���� 2���8
���2�0 ����� ��?��&.���. 2�&�. ���2�&(�� ���+����&����. �9�?��A

e = K ∗ r/T,

��� r 8 �&�/����� /��&� � 8 ��2�� ����-�� ������$��# +����2�H-�� 6��/���. ��
< �� @>> 
&. dX � dY ��M77�$���� ����� <>>> 
&. a �� ����� 0.2 ∗ π  


&. ��1��� ����� +�+�&.$�� ��?������. ����. M&���# � +�2�-(H �������
�����������. ����. +�+�&.$�. � � � 

��6�&(����2 M��� +��$����� .�&.���. �+��2�&(��� ����� � +������ +���2�8
-��2��� �&���� ��������&(�� ��+����1���� �&���� ��&� +���2�-��2�� �&��� ��8
����� ?�&�� /�2 �6 ���0 �?l�����# �� ���0 �+���$��# �+����&.�2�0 +���2����2�
!dX # dY # a" 2�1�� ?��( �� �������/��# �&. ���&�/9��� ���+�&�1���. M���� �&��8
��# +���2� /�� 2�1�� ?��( ���?0���2� ��� 1� ���&��( 6����&(��� ���?��1����
M���� �&���� ��������&(�� ����� �6 ���� X �&� Y  �� M��� +��/��� M��&H$���8
��. +��$����� +��2��.���. ��� 1� � 2��1����� 2D ���������# +�&�/����0 �6
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���	������ �������� @=

2��1����� ��������� �?l����� +���2�-��2��� �&���� 6�2���� ���0 ��������� Y
�� −Y  ���&�/9�� ��9���.# +�&�/����� +��&� +��2�����. ������/������ �&��8
���2� � +���2�-��2�2� �&���� � ��� 6����&(��U ���?��1����# ��H� �+��2�&(���
���������� +���2�-��2��� �&���� 

���&���/�� 2�1�� �+����&��( +��$����� ���02����� ��6��&�6�$�� ��6�&(8
����� �&������6�$�� q�� +��$����� ��&�/����. �� �+������� ��9� ��&(�� ��2#
/�� ���������� ���0 �?l����� �6 +���2�-��2��� �&���� �62��.H��. �&���H-�2
�?��6�2A

Xnew = X ∗ cos(a) + Y ∗ sin(a) + dX,

Y
′
= −X ∗ sin(a) + Y ∗ cos(a) + dY,

Ynew = Y
′ ∗ cos(a) + Z ∗ sin(a) + dY,

Znew = −Y ′ ∗ sin(a) + Z ∗ cos(a) + dZ,

��� X # Y # Z ���( 3D ���������� �?l����� �� +���2�-���. �&����# Xnew# Ynew#
Znew 8 ���������� �?l����� +��&� +���2�-���.# dX # dY # dZ 8 6��/���. ������
�?l����� �6 +���2�-��2��� �&���� ���&( ���� X # Y # Z# a 8 ���& +������� �&���� 
q��&H$������ �&�����2 ��6��&�6�$�� �-�� ����� 6��/���. /�����0 +���2�����
!dX # dY # dZ# a"# �+����&.H-�0 +���2�-���� �&������# +�� ������0 ���&�����.
2�1�� ��0����2� � 3D ������.��.2� 2�1�� �?l����2� ��+����1���� � +���8
2�-��2��� �&������� 2���2�&(�� ����� �+��2�&(���� ������� !dX # dY # dZ# a"
+����0���� +� �?-�� �0�2� ������/������ �&�����2�A �&�/����2 �?��6�2 ������8
�����. ��/�&(��� 2��1����� ����0 �������� !��/�&(��. +�+�&.$�."r �&. ��1����
�6 ��0 ��/��&.���. 6��/���� 7���$�� F # ������ ��22����2� ���&�����H 2�18
�� ��0����2� � 3D ������.��.2�r ��?������. M&��� 8 6������� /��&� ���&�/9�0
�������� � 2���2�&(��2� 6��/���.2� F r �6 �������� M&��� ��������H��. �����
������� !����. +�+�&.$�." � +�2�-(H �+���$�� ������������� � 2���$��r �&.
����� +�+�&.$�� ��/��&.H��. 6��/���. F r ��?������. ����. M&��� � � � 

�+���$�. �������������A �&�/����2 �?��6�2 �6 M&��� ��?������. +��� �����8
���8������&��# /���( ��������� ������ �6 ��0 6�2��.���. ����������2� �������#
� ���?����# � ��6�&(���� /��� +�&�/�H��. ��� ����0 �������8 +���2�� 

�+���$�. 2���$��A ������� ��������� +��?��&.H��. +����-���. e = K ∗
S/T # ��� S 8 ����������. ���2�&(�� ���+����&����. �&�/����. ��&�/���# T 8
��2�� +�+�&.$��# = 1000 �&. dX # dY # dZ# � = 0.2 ∗ π �&. a �+���$�. 2���$��
+��2��.���. � �������28������&.2 � �������28+���2��2 

����. +�+�&.$�. �?��6����. �6 M&���# +���2��� � 2����������0 ��������
M&��� � +���2��� mDB#DEn 

E� ��F8�2�'= &2�&5�8�'= < '%6�8�9'>�= #8�5���$D 8=2&#

K���( +���&������. 2���� ��/�����. �����0�/����� �&������6�$�� � ����2��8
��� ��6��&�6�$��� �����0 +� ��������2� +���6���&H �?-�. �0�2� 2�����A

HC(S) =< E;P >,

��� E 8 ��/����� ����9���� M�����&��������# �+����&.H-�� �����0�/����H �&�8
�����6�$�H �����0# � P 8 �+������ �?l����� +� �+����&����2� +���6���&H �����#
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/�� P (x) 8 6��/���� M���� +���6���&. �&. �?l���� x ���&����������( E � P 2�8
1�� ?��( ���������� +�� ��&�/�� ��.6� 2�1�� ������.���2 2�1�� �?l����2�#
��+�&(6��2�2 � �&�����2� �&������6�$��# � +���6���&�2 P  ��&� �?l����2� .�8
&.H��. ���2����� �.��# � �&�����2 �&������6�$�� ��+�&(6��� ���&����� ������8
.��� 2�1�� ��2�# �� � ��/����� ������ +���6���&. P 2�1�� ?��( ��?���� �������
6��/���� ���2������ �.�� 6� ����2�������2�� �������& ���2��� 

M� ��F8�2�'= < '%6�8�9'>�= % #�9:' �9'>��@ %� 7�$D %#=9�@

q��� 2���� ��0���� �6 ����# /�� ��������� �����0 2�1�� �� �����1��( �����8
��������� �&������6�$��# � ��6��&�6�$�. ��&(��0 ��.6�� 2�1�� ?��( +�&�6�� �&.
���&�6� ���&�����. +�&�/����� �&������6�$�� �� ��������� �����0 
��. 2�8
���� 6��&H/����. � ��6��&�6�$�� ��&(��0 ��.6�� 2�1�� �?l����2� � ���� ���7�
����2 �?��6�2# /�� �?l���� � ?�&(9�2 �6��2��2 �0������2 ��������� ��?��2 
	�����( �0������ ��?������. �6 ���?��1���� 2���2�6�$�� ���0�1����. ���7�
�0������ � +�&�/����� �&������6�$��� 

�0�2� ��?������ �&������6�$�� �2��� ���A

HC(S) =< E,Sα;� >

��� E 8 /����� ����9���� M�����&�������� �� M # 6������2�� ��&.$�����2 �&�8
������2 �&�����2�2# � Sα 8 �+��2�&(��� α8���6 ��0������ �6��9������ ����9�8
��. �0������ S �� ������ �0������ α �������� �+��2�&(����� α �+����&.���.
��1� α8���6 ����9���. S �+����&.���. �6��9����2 ����9����2A

Sα(x, y) =
{

1, ��&� S(x, y)r
0, � +�������2 �&�/�� 

�?�6��/�2 E1 0�����������/����H 7���$�H ����9���. EA

E1(x, y) =
{

1, ��&� (x, y) ∈ Er
0, � +�������2 �&�/�� 

����( M �����1�� nM �?l����� �?�6��/�2 Nα =
∑

x,y∈M
Sα(x, y)−nM �?-�� /��8

&� ���&(��0� ��.6�� Sα(x, y) = 1 � α8���6� Sα 6� ��/���2 ��7&�������0 ��.6��
Sα(x, x) = 1 ����( {A1, . . . , Au} 8 �&���� M�����&�������� !�&������" ����9�8
��. �# �����1�-�� +� n1, . . . , nu �?l�����# �������������� �?�6��/�2 Nα

+ =
u∑
k=1

(
∑

x,y∈Ak

Sα(x, y)) − nM 8 /��&� ������8�&�������0 ��&(��0 ��.6�� ����9���.

Sα ����� Nα
− = Nα−Nα+ ����� /��&� 2�1�&�������0 ��&(��0 ��.6�� �?�6��8

/�2 NE =
∑

x,y∈M
E1(x, y)−nM 8 /��&� ��.6�� �E1 6� ��/���2 ��7&�������0 ��.6�� 

� ��?������ +��$����� �&������6�$�� �+��2�&(��� 6��/���� α ��?������. ����2
�?��6�2# /��?� 2���2�6������( /��&� ������&�������� 2�1�� ��&(��2� ��.6.2�
� Sα � ��&(��2� ��.6.2� � E1A

G = NE −Nα+ +Nα
− = NE +NA − 2Nα+.
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���� �� �����	�� 	! "����
 	! ��	�����#	��! ��"�� �
 �$�� ��"�� % �# �	# %& ��	'
�����
 ���# 	(� % �	# %�� )�"��	��� * ����'��	���� %� � ��+��	���� %� ���� %�
�
!#� ���	#	 % ����, %�� � �� ���� %�� �� �!��� ����
����
�  ��

�����&(�� 2�1�� ?��( �����&(�� �+��2�&(��0 6��/���� α # � ��/����� ��+�&��8
��&(���� �������. �&. ��?��� α 2�1�� ����2�������(�. 2����2�6�$�. Nα

+ �&�
2���2�6�$�. Nα

−[13] 
����&����2�� 2���� ��?������ �&������6�$�� +���&&H��������� �� +��2���

��?������ �&������6�$�� <B �������� �����&1����� :�����&(���� ������ �� ��8
���� ��������/����0 �����0 �? �0 �������$�.0 � �������� ��+���& 6� +����� <JJJ8
D>>B �� mDFn � ��/����� 2��� �0������ 2�1�� ���2����2� �.��2� �������$�� ��8
+�&(6���&��( 2��� ����$��$�� &���&(��0 �������# ���������. �� +���?��6������
���&(6.-�0 �++�����2�$�� mD=n 
&. +�&�/���. �&������6�$�� R1 = E +��2��.8
&��( ��&.$������ �&�������� �&�����2�# ����2�������� � ��6��&� D ��� < +�8
��6����� +�&�/����H �+��2�&(��H ��?�����H �&������6�$�H �&. α = 0, 94686 
�+&�9��2� � +��������2� &���.2� +���6��� ��&(��� ��.6� 2�1�� ���2����2�
�.��2� �6 ���������0 �&������� � �6 ��6��0 �&�������# �������������� 
�+�&(8
6��2�. �??��������� �?�6��/��� �&���H-�� �������A �� 8 ,�9���������# )� 8
)���� q&# )� 8 )������.# �� 8 ���������# �� 8 	�2����.# �� 8 I���9�.# {N
8 ��������. �?&���(# gN 8 ��1���������. �?&���(# ty 8 ����?������. �?&���(#
vg 8 ���6�����. �?&���(# vy 8 ���2���. �?&���(# f~ 8 ��2�����. �?&���(# fy
8 ����������. �?&���(# �c 8 	&(.������. �?&���( ���&� +��2�����. +��$�����
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�&������6�$��# ?�&� +�&�/��� /����� ��6&�/��0 �&������A p<��ue# we# ty#
vy# ���# pD��{N# �c# ~e# gN p��# p@��vg# f~# ~t�# pB��fy� �������#
�?l��������� � ���� �&�����# �?�6��/��� ���������2� 7�����2� ��6��&�6�$�.
��&(��0 ��.6�� +���6�����# /�� +�&�/����. �&������6�$�. �������/�� 0���9�
����1��� ��������� ��&(��0 ��.6�� 2�1�� �������2� ������&�������� �2���8
�. &�9( +� ���2 ������8�&�������2 ��.6.2 �vy#ty�# �{N#~e�# �{N#gN� � ���2
2�1�&�������2 ��.6.2 ��N#vg�# �p�#vg�# �fy#f~� 
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� ��?��� ����2������ �?-�. +��������� ��?������ ��&.$������ �&������6�8
$�� � ��6��&�6�$�� �����0 � ��6&�/��� /������ �&�/�� �?-�� �0�2� ��?�����.
��&.$�����. �&������6�$�. +�6��&.�� ��/����( �&������6�$�H �����0 � �0 +��8
������������� ��6��&�6�$��� &�?� � ����&����2 ��&(��0 ��.6��# /�� ���� ?�&��
+�&��H ��7��2�$�H � ��������� ���&����2�0 �����0 ����&�1����� � ������
��?��� 2���� ��?������ ����2����� ��6��&�6�$�� � �&������6�$�� �����0 $�&�8
���?��6�� ��+�&(6����(# ����� 2�1�� ?��( ������ �?�?-����� +���6���&(# �+��8
��&.H-�� ����2����H ��6��&�6�$�H �����0 ��6��?������� 2����� ��?������
�&������6�$�� ���&�6����� � ���� ��2+&���� +�����22 �� .6��� )��'�, 

�4�%&<  �6�8'6:8$

m<n ����6.� � � # ,�09��?�� � ) # ��H��� 
 � # )�9�&��� ' 
 ����&����.
����������A �&����7���$�. � ���1���� ��62������� �+����/��� �6�����
���� ��� � � ����6.�� h ) A :������ � ����������# <JCJ F>= � 

mDn 
H��� , # ���&& � �&�������� ���&�6 h ) A����������# <J== <DC� 

m@n )����&( 
 
 �&�������� ���&�6 h ) A :������ � ���������� <JCC <=F � 

mBn �RU\XRO` e � p\YSPUV TOX p\TSSR�GTPRZO wUGQOR�YUS ^ZV PQU uRZSGRUOGUS# pT_[VRX`U
�ORaUVSRPb vVUSS# D>>= 

mEn {OYXSUO f uRZ\Z`RSP�S jYRXU PZ eOT\bSRS Z^ �ge ~RGV��VVTb �TPT iR\Ub8
NOP�VSGRUOGU# D>>D 

mFn pQUO } # �RY c # pQUO i # g`YbUO c # {TPd y � p\YSPUVRO` iU[ GZOPUOP ^ZV
U�GRUOP VUL\RGTPRZO NOA vVZG <>PQ N��� NOPUVO pZO^ ZO gUPWZVz vVZPZGZ\S#
D>>D# LL <FE8<=B 

m=n �VRUX_TO ~ # {TOXU\ e NOPVZXYGPRZO PZ vTPPUVO yUGZ`ORPRZO fPTPRSPRGT\#
fPVYGPYVT\# gUYVT\ TOX �Yddb cZ`RG eLLVZTGQUS iZV\X fGRUOPR�G# <JJJ 

mCn vUXVbGd i {OZW\UX`U8uTSUX p\YSPUVRO` �VZ_ �TPT PZ NO^ZV_TPRZO jVTOY\US 
iR\Ub8NOP�VSGRUOGU# D>>E 

mJn xTRO e { # ~YVPb ~ g # �\bOO v x �TPT G\YSPUVRO`A e VUaRUW 8 ep~ pZ_LYPRO`
fYVaUbS# |Z\ @<# @# <JJJ# LL DFBh@D@ 
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m<>n fPVUQ\ e # jQZSQ x p\YSPUV UOSU_[\US h e zOZW\UX`U VUYSU ^VT_UWZVz ^ZV
GZ_[RORO` _Y\PRL\U LTVPRPRZOS h xZYVOT\ Z^ ~TGQROU cUTVORO` yUSUTVGQ @# D>>D#
LL EC@8F<= 

m<<n �QZY e # �RTO i # �RTO � # iUO x # �QZY fQ # �TO } e Qb[VRX TLLVZTGQ PZ
G\YSPUVRO` RO aUVb \TV`U XTPT[TSUS# ROA ve{�� D>><# cgeN D>@E# D>><# LL E<J8
EDB 

m<Dn ������& 
1 �6��2���.6( 2�1�� 2����2����2 9��&��������2 � �&�����8
���&�6�2 � �� A �&����7���$�. � �&����� ���� ��� 
1 �M� ���6��� 8 )A
)��# <JC> � D>8B< 

m<@n ,����9�� 
 K # �&�2��� � � ��?�����. ��&.$�����. �&������6�$�. � ��8
6��&�6�$�. �����0 ����� ������� ���/� ���7 +� ��/����2 �����2�2 �
2.���2 ��/��&���.2 ��)�8D>>F ) A :�62��&��# D>>F � <J@8D>J 

m<Bn ������� � � # ,����9�� 
 K # ,&�9�� � : # ��&�� � , # ������� � , ��/��8
��� 2��1����� � 2���&.0 �+���&���. � �������������� ����&&����� ��� ��� 

 � ���+�&��� h ) A ����� �& ��� 7�6 82�� &�� # <JCF @<D � 

m<En wT_YVT f # �R`Y�QR f # wTOTzT { vTPPUVO G\TSSR�GTPRZO [TSUX ZO ^Yddb VU\TPRZOS ��
N��� wVTOS fbSPU_S# ~TO# pb[UVOUPRGS# f~p8< <J=< LL F<8FF 

m<Fn �TXUQ c e fR_R\TVRPb VU\TPRZOS TOX ^Yddb ZVXUVRO`S �� NO^ZV_TPRZO fGRUOGUS <J=@ 
� @ LL <==8D>> 

m<=n x�VXROU g # fR[SZO y ~TPQU_TPRGT\ PT]ZOZ_b �� cZOXZOA xZQO iR\Ub TOX fZOS 
<J=< 

m<Cn xZQOSZO f p �RUVTVGQRGT\ G\YSPUVRO` SGQU_US �� vSbGQZ_UPVRzT <JF= � @D LL 
DB<8DEB 

m<Jn ,����9�� 
 K # 4����� � � ��������� ��2����/����0 +���������� ���8
?�&(��0 �$���� �������� �� eGPT UP p�__UOPTPRZOUS �ORaUVSRPTS wTVPYUOSRS#
wVTOSTGPRZOS ZO eVPR�GRT\ NOPU\\R`UOGU# vVROGRL\U �YUSPRZOS Z^ {OZW\UX`U wQUZVb#
wTVPY <JCB � FCC LL D>8@C 

mD>n ,����9�� 
 K# �&�2��� � � 
����������� �&�������� +��$�����# ��8
�������� �� ��/����2 ����9���� �0������ 
�������������� 2���&� � 2.�8
��� ��/��&���. � ������������2 ����&&���� �?����� ���/��0 ������ NNN8��
)�1����������� ���/��8+�����/������ ��2�����# D>>E h )�����# :�62��8
&��# D>>E# p <<J 8 <DE 

mD<n u�PbVSQRO N � # yYXTS w # {\R_ZaT e tO `UOUVT\ SGQU_U Z^ ROaTVRTOP G\YSPUVRO`
LVZGUXYVUS [TSUX ZO ^Yddb SR_R\TVRPb VU\TPRZO �� vVZG NOP pZO^ �Yddb fUPS TOX
fZ^P pZ_LYPRO` RO �GZOZ_RGS TOX �ROTOGU# �ffp�� D>>B# fP vUPUVS[YV`# yYSSRT 
D>>B aZ\ N LL <DD8<DJ

mDDn ,����9�� 
 K � ����6��������� ��62���0 �+��.��/������ 
��&���8
����� �+���$�� � ���&���/����� +������������� � ��0���� 8 ��6��(A
��6���� ����$ ��8�# <J=J � F=8=@ 
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mD@n u�PbVSQRO N # {\R_ZaT e gUW ROaTVRTOP VU\TPRZOT\ G\YSPUVRO` LVZGUXYVUS# ROA
vVZGUUXRO`S Z^ �TSP iUSP �Yddb pZ\\Z�YRY_ D>>D# <>PQ �RPP�Y �Yddb pZ\\Z�YRY_#
�RPP�Y# jUV_TOb# D>>D# DFB 8 DFJ 

mDBn ,����9�� 
 K # �&�2��� � � q��&H$������ +��$����� �����0�/�����
���02����� ��6��&�6�$�� �����0 � �? A 
��&�������. +� ��7��2����� 
�8
������ +��?&�2 ��7��2����� �� �� 8 ��6��(# ���/�����# g =# D>>B# <<J8<DB 

mDEn {\R_ZaT e �aZ\YPRZOTVb LVZGUXYVUS Z^ aRSYT\RdTPRZO Z^ _Y\PRXR_UOSRZOT\ XTPT ��
vVZG NOP pZO^ �Yddb fUPS TOX fZ^P pZ_LYPRO` RO �GZOZ_RGS TOX �ROTOGU# fP 
vUPUVS[YV`# yYSSRT D>>B aZ\ N LL <@>8<@J 

mDFn �����. � $�7��0 :�����&(��. �&�1?� ��������������� ����������
QPPLA��WWW `zS VY�SGVRLPS�X[�ROUP�X[ROUP G`R�L\�D=>D>>E 

mD=n u�PbVSQRO N � # {\R_ZaT e f # fQUVU_UP�a c u # |U\TSGZ8�UVOTOXUd x � 
pZ_[RORO` \ZGT\ PVUOX TSSZGRTPRZO OUPWZVz TOX G\YSPUVRO` RO aRSYT\RdTPRZO Z^
VU\TPRZOSQRLS RO PR_U SUVRUS XTPT [TSUS NOA vVZG NOPUVO pZO^ �Yddb fUPS TOX
fZ^P pZ_LYPRO` RO �GZOZ_RGS TOX �ROTOGU# �ffp�� D>>F# xYOU 8 xY\b <# D>>F#
fP vUPUVS[YV`# yYSSRT# LL DBD8DE< 


